@ZE\XE@ @»») *HAFH—h1=v b Support Units<EEf> Fixed Support

SUF series qeqo (DZAK

2) (3 (8) (67 0nE HaR (e
W W OSEUES  Wo W B 7V | 1
b S2BES )R Ho 2 W OPZi 1tk
Mi 3 |WMIJARITWIS Vb 1
o| r et . —— . " NANSIRILE .
S TRBEYXS =] B RIEH SRS
M 2 v
L] 5 AR—4 1
6 Ovo+vk 1
I \t“
by 0K il te | | We ®D . 7 T I AINRD 1
; 4-pSiFUEY
mamany Waw | W2 i 6 SR o
Ex {4511 SUF6, 8 Ex {4512 / — -—
2 5)(6)7 Y [ —
W W 4-p SiFUEY - ’ : |
g T ] — gty U A T\ 3 =l
, b ¢ SET IR Ho al |k y SN T ks I :
e ® SR e B
-g fi?7 ‘.'; N — < f = 7/ N =
(- [ :'é"‘w oY / L i oy P
]t 0K til to | | Wa te t 0K t to | We
W Wi T W Wil
R SUF10, 12 R 12 BT SUF15, 20, 25 ER {412
+F : SUF Y —XsHER BAGL : mm
2 A v v 7 EC S N < SEfA F V2 (N-m) B X7 T
d D, Df PCD W t ty W, W, W, W, K S, S, H, M M, T [By2ZFy <7V IEAARY| (kg)
SUF6 6 22 35 28 20 7 13 5.5 22 3.5 6.5 28 29 5.5 3.5 | M6X0.75 M3 12 1.9 0.69 0.1 706ATYDFC7P5
SUF8 8 28 43 35 23 9 14 7 26 4 8 35 3.4 65 | 4 M8X 1 M3 14 2.3 0.69 0.2 708ATYDFCSP5
SUF10 10 34 52 42 27 10 17 7.5 29.5 5 8.5 42 4.5 8 4 M10X1 M4 17 2.8 1.47 0.2 7000ATYDFC8P5
SUF12 12 36 54 44 27 10 17 7.5 29.5 5 8.5 44 | 45 8 4 M12x1 | M4 19 6.3 1.47 0.3 | 7001ATYDFC8P5
SUF15 15 40 63 50 32 15 17 12 38 6 14 52 5.5 9.5 6 M15X1 M4 22 7.9 1.47 0.4 7002ATYDFC8P5
SUF20 20 57 85 70 52 22 30 10 52 10 14 68 6.6 11 10 M20X1 M4 30 16.7 1.47 1.1 7204ATYDFC8P5
SUF25 25 63 98 80 57 27 30 13 60 10 20 79 9 15 13 M25X1.5 M6 36 20.6 4.9 1.5 7205ATYDFC8P5
422 423



